
Operaciones con Enteros (I)
Emplee una estrategia de enteros para encontrar cada respuesta.

-76 × -76 = -70 + -69 = -55 + -30 = 

79 + 4 = 77 × -9 = -85 × -80 = 

89 - 95 = 64 + -16 = -53 + 10 = 

-91 - 24 = 4130 ÷ -70 = -9 + -90 = 

-42 × 21 = -32 × 90 = 93 × -22 = 

4 + 1 = 61 × -70 = -25 - 10 = 

-3 - 16 = -63 + -9 = 15 × -77 = 

-7 × 87 = -10 - 97 = -392 ÷ -7 = 

-4 + 23 = 14 - 27 = -3 × -57 = 

-87 + -91 = 9 + -36 = 83 × -55 = 
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Operaciones con Enteros (I) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

-76 × -76 = -70 + -69 = -55 + -30 =
= 5776 = -139 = -85

79 + 4 = 77 × -9 = -85 × -80 =
= 83 = -693 = 6800

89 - 95 = 64 + -16 = -53 + 10 =
= -6 = 48 = -43

-91 - 24 = 4130 ÷ -70 = -9 + -90 =
= -115 = -59 = -99

-42 × 21 = -32 × 90 = 93 × -22 =
= -882 = -2880 = -2046

4 + 1 = 61 × -70 = -25 - 10 =
= 5 = -4270 = -35

-3 - 16 = -63 + -9 = 15 × -77 =
= -19 = -72 = -1155

-7 × 87 = -10 - 97 = -392 ÷ -7 =
= -609 = -107 = 56

-4 + 23 = 14 - 27 = -3 × -57 =
= 19 = -13 = 171

-87 + -91 = 9 + -36 = 83 × -55 =
= -178 = -27 = -4565
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